Exercise 5, p. 10



-

5

In 2002, nineteen-year-old British refuse collector Michael
Carroll and his family *_ _(be) delighted when he
2 (win) £9.7 million in the lottery. He

< (give) millions of pounds to charity and

to friends and relatives. He also ¢ (spend)
thousands on loud, all-night parties, and over the next few
years, he * _(get) into trouble with the police
several times. His wife Sandra ¢ (be) cross and
upset and ”? (decide) to leave. Soon, he

8 (have) no money left, and in 2010, he

_ (begin) work as a refuse collector again.
‘I'm just glad it's over,” he ™ (say).
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